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Static Electricity — Questions

1. What is the study of electric charges
that can be collected and held in one
place called?

a) Electrodynamics
b) Electromagnetism

)
c) Electrostatics
d) Electromotive force

OSay (il Ay ) cliandd) Al o i 13la g,
faa) g Gl A Lgo BLEGAY) g Lgasans

A e il (i
Qualiza 5 ¢Sl (2
ASiliv sl (2

3l o) Aadlal 5 58l (3

2. Which of the following best describes

static electricity?

a) The flow of electric charge through a
conductor

b) The study of electric charges in motion

c) The accumulation of electric charge on an

object's surface
d) The interaction of electric charges with

magnetic fields

SAaSLu) £l Sl Chaay AY) O (512,

Jiage e o<l Lintll (305 (|
A8 jall oL Ay Sl cliadl) Al (G
pnsalinall Y laal) o 58l ciliaill Jelds (2

3. Why does hair stand up when a balloon
is rubbed on it?
a) Because the balloon produces a magnetic

force
b) Because the balloon creates a

gravitational force
c) Because the balloon generates an

electrostatic force
d) Because the balloon increases the air

pressure around the hair

vagde ool dljh aie el Gidy 13l 3,

pnplaline dpunlalins 8 8 ity o sll) Y (]
Gila 38 i o) Y (w
ASiling S 548 A oW Y (2

ol Jsa Jasall (e 25 sl O (2
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4. Why is a person's hair more likely to
stand up on a dry day than on a wet day?

a) Dry air is a better conductor of electricity
b) Wet air increases the gravitational force
c) Dry air reduces the dissipation of static
charge

d) Wet air enhances the electrostatic force

as (B paddll ad Uiy o ma el (e 13 4,
bl agall (ha JiS) Gl

£ L Sl Juzadl Jac g il 61 50 (1
Al 3.8 e aba N o) sedl a5 (2
S Al s e Calall o) sel) Jlay (7
Al 9 e Sl 3 8l (e ala ) el sl 2y 30 (2

5. What evidence suggests that there are
two types of electric charge?

a) Like charges repel and unlike charges
attract

b) Like charges attract and unlike charges
repel

c) Both like and unlike charges attract each
other

d) Both like and unlike charges repel each
other

04 sl Cliadl) (e (e 58 529 o Jidall L B,

Al cliandll Qa5 dgpliall i i) il (|
Aliall cliadll 8l 5 Agliiall cliadll Qi (@
Ol dliiall 5 dgalitiall (iiandl) WIS (2

O Al Aagliall g dgulitiall (pitiaill VIS (

The figure shows the condition of the two
tape strips (x, y) due to the electric
charges, which the following is correct for
the tape strips ?

a) They have different charge kinds .
b) (x) is positive and (y) is uncharged .
c) They have the same charge kinds .
d) (y) is positive and (x) is uncharged

s (Y eX) G sl (s o s JSA) eia g
wgwyglﬂmél s&gﬁ@)@ﬁiﬁwl
¢ ok ) ooy

Adlin g Clia &\3_! ael A)
Apada ye (Y) 5355 X B)
G KPR | ﬁlj;l o aggal Q)
Wgada e (x) 5434 (y) D)
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The figure shows the condition of the two
tape strips (A, B) ,when they are brought
close to a plastic comb, which the
following is correct ?

A- Both comb and strip (A) are positive .
B- Both comb and strip (B) are negative .
C- comb is positive and strip (B) is negatibe
C- Both comb and strip (A) are negative .

Cria™ by pdd) oy pd Al &) e o
OC_A.LG.H}\E‘!A:‘LAA _51

e sa (A) byl g il e S -A
Il (B) Jaa il s il 38 -B
b (B) daa sl 5 2 30 il -C
Sl (A) il dd 38 D

8. Which of the following are true about
the conservation of charge?

a) Charge is created during rubbing
b) Charge is destroyed during rubbing

c) Electrons are transferred, not created or
destroyed

d) Protons can be transferred between
objects

$4iakl) Bia oo Qg Y e 1 8.

AiaY) oL diazl) L (

AiAY) L] dinil) 5 (o

Y ol i gl Al g3 Y g il Iy JaE (z
plua¥) (i s all Jais o S (2

9. Which of the following is NOT true
when two neutral objects are rubbed
together?

a) Both objects become negatively charged

b) One object gains positive charge, the
other gains negative charge

c) Electrons are transferred from one object
to the other

d) Both objects attract to each other

Aaia Cpana 3 die Ul g sl (Y (e G O,
flaa Aadd)

DAY iS5 i se B Cpanall ol i (@
AV el aal e i g <Y Jis (7
DAY Cpenal) SIS sy (2

Mr. Adham Zewin - 0505084733



G12 General Physics — Chapter 01 Y Baa gl — gy 54l T1-2024 - 2025

10. Which of the following statements are ) Llee (o ol gua 45Y) &l lall G 10.
true about the process of charging by fdliaLy
friction?
a) Itinvolves the transfer of protons <l g5 ) Q) Cpanats (I
b) It involves the transfer of electrons <l g IV JlE) et (o
c) One object become charged and the other Valxia Y15 U gadia Cpavall aal oy (7
neutral dolaall o8 8 8Bl jpedi o (2
d) Charge is destroyed in the process

| Before Rubbing ) h After Rubbing
11. Which of the following is TRUE after i gual) Balaad) & B day il gua (AY) O 1 11,
rubbing the wool rug with the rubber shoe shthal) g)dally
a) Protons will be transferred from the wool ) o gaal) Balas (e 55 ) St (|
rug to the rubber shoe B ENPAREN|
b) Electrons will be transferred from the wool 4 puall Balaill (e 5 I i (@
rug to the rubber shoe shtbaall ¢laal) )
c) Electrons will be transferred from the @hlaall elaadl (e il IV JE55 Ca g (7
rubber shoe to the wool rug hthall el
d) Protons will be transferred from the rubber athal) sl e QU}:’?)*M R B (3
shoe to the wool rug el sl
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12. When two neutral objects are rubbed
against each other, the first one gains a net
charge 3 e Which of the following
statements is true ?

a) The second gains 3 e and is positively
charged

b) The second loses 3 e and is negatively
charged

c) The second loses 3 e and is positively
charged

d) The second gains 3 e and is negatively
charged

Laaaaf ddadd) Aslata Cpava diSia) dic 12,
G 3 e 4S dad J oY) anad) iy AV
Sl gaa ALY ) jlad)

Lndll s ge iar 3 (A avall i (1
CAasdll Qlle 5553 e SU g (@
Al A 9o (5SS 3 @ Al 2 (2
sl Al <55 3 e Al uiSs (2

13. When a glass rod is tabbed with silk
and becomes positively charged , then:

a) Protons are added to the silk

b) The silk remains neutral

c) Protons are removed from the silk
d) Electrons are removed from the rod

Ty Al Al cuad dla ol Laie 13,
s didie Adadl) a ga

eoal) )l g ) s (1
Sl G i 01 (2
il (e 5 S J1E (o

14. One way to charge a neutral metallic
with a positive charge is to do one of the
fallowing

a) Remove some electrons
b) Add some electrons

c) Add some neutral atoms
d) Cutout a part of the object

Lty Al Jolatia S (it (33 53] Juaii14,

4N gl aaly alidl) 8 4y ga

i Y1 s A1)
lalaial) Gl AN joany 4802 (C

el oo 5o o8 (0
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15. The free positive charge distribution over the surface of two isolated spheres is
shown in the diagram. Which of the following is correct for the two spheres?

) Al Gl ga A G Ol Jaia (S e Ao B Al A gal) Adaldl) a3 98 AY) AN i gy

¢y Sl
+
T+ 2
+
-+ += +
+ + + +
+ + i 5
+ ¥
_l_
1 | 2
1 2
A Insulator Conductor
Jdole Jia sa
Neutral Insulator
B
Jalzia Jdole
c Conductor Insulator
Joa ga Jdole
b Conductor Neutral
dm}.q d.lla:m
16. Which of the following materials is a faa 24S Jole 48Y) 354l &1 16.
good electrical insulator?
e A) Copper ol (i
o B)Aluminum assie sl (@
e« C)Drywood calall Qs (#
« D) Graphite Cudlyall (2

Mr. Adham Zewin - 0505084733 n



G12 General Physics — Chapter 01 Y Baa gl — el ) T1-2024 - 2025

+ ++
+
-
+
17. The adjacent figure shows a sphere O Gl Al Jaai 3 S jglaall) JSil) a9 17,
carrying a charge. Which of the following fo) ga AV

is true?

a) The body is insulator and charged by il g IV s 35k e ¢ sadia s Jole anadl (|

losing electrons Gl a5k e O sadia s (e se anall (o
b) The body is conductor and charged il <)
by gaining electrons e . ‘

) e O gadia I (z

c) The body is conductor and charged Ol Bk o 0 ’ dm}: :\Z{y‘(c
LSS )

by losing electrons _
d) The body is insulator and charged by | <“Us Sl Gl ok e sadiay djle aall (2

gaining electrons

18. The adjacent figure shows a sphere O Gl Al Jaai 3 S jglaall JSil) a0 18,
carrying a charge. Which of the following fo) ga AV
is true?

a) The body is insulator and charged by s g IV s 3y 5k e ¢ sadia s Jle anadl (|

losing electrons Gl (3 5k e O sadia s daa ge anall (G
b) The body is conductor and charged el g S
by gaining electrons e . ‘

. \ . . * \ -

c) The body is conductor and charged O B0k 0o Oyl dm’: :ij(c
L5

by losing electrons _
d) The body is insulator and charged by | “Us Sl CLill Gyl Ge O sadias Jle puadl (2

gaining electrons
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19. What happens to the charge on a plastic
rod when one end is rubbed on clothing?

A

B

C) The charge is neutralized immediately
)

) The charge spreads over the entire rod
) The charge only stays on the rubbed end

D) The charge moves to the midpoint of the rod

de Sl b e Dadll dinag 13k 19,
Skl o 4yl aaf &3

aleSh il e i) s (1

Lid o Saall Coplall e daail) a5 (o
Dl e Ll e (2

Capall Caatio ddads ) diail) & i (3

20. Why are metals (copper, Aluminium)
considered good conductors of electricity?

A
B
C) They have free protons

) Their atoms have tightly bound electrons
)

They allow electrons to move freely

)
D) They insulate against electric charges

COlia ga (agaia sl g uladll) il 3141 35 13l 20,
Telo sl b

ASaly daiyo i i< e gl )3 (5 sia (|
Ao il Gl g S s (@
ﬁ)ﬂ\ﬁﬁﬁhﬁ}}ésg)&(c

Lo yeSh cliaill s L) (o

21. Which material can act as both a
conductor and an insulator depending on
its form?

A)

B) Aluminum
C) Carbon
D) Glass

Copper

Ve g o ga 8 ¢ oSy A Balal) La 21,
VAL FEVENK N P

oadl (i
ol (@
oS (z
g (2

22. In which scenario does air act as a
conductor?

A) When a plastic rod is rubbed
B) During a lightning strike

C
D

When insulating tape is charged
When a metal rod is touched

)
)

Shasas ¢ 5¢d) Jamy cAY 4 (822,

Sl Gl lSial e (§
B dielia &igaa o Ll (<«
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23. What happens when you touch a charged
comb to one end of a metal rod supported by
aninsulator?

A) The charge remains localized at the point of
contact

B) The charge spreads over the entire rod

C) The charge neutralizes immediately

D) The charge moves to the opposite end of the

rod

aaly U gadia Undia Gueali Ladie aaay 13La 23,
f00 ageda Adna b Ak

Ceadlil) Adads aie 3 38 i Ada i =~»d5=-.3(i

sl e diadll Jalai (2

) (e Jiiall okl ) Al Jass (o

Which of the following is correct?

?c,a\yagfx’\g.af;gi_

1 2
A Attraction - a3 Repulsion - s
B Attraction - «ilas Attraction - «las
Cc Repulsion - 2l Repulsion - il
D Repulsion - & Attraction - «3as
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24. What is the purpose of an
electroscope?

A) To generate electric charges

B)

C) To detect the presence of charge
)

To measure electric current

D) To store electrical energy

b)) LISl (e o 21 e 24,

i oSl Clia ) ad il (|
el Ll Galal (@
GLs 3l 2 ga g e @dS (G
Al eI sl oy Al (o

25. What happens to the metal leaves
when neutral electroscope is charged?

A)

B) The leaves remain stationary
C)

D) The leaves stay neutral

The leaves move closer together

The leaves spread apart

LESY) ks Lasis ddaeall (§) ) 600 duaay 13le 25,
dalaiall (o g S!)

pandll Lpany (e (31559 i (]
A )Y Jls (@

canill lpany Ge 31 5Y) 2l (7
alaia (31 55Y1 A5 (2

26. The figure shows charging by .......

A) conduction
B) induction
C) friction

)
D) grounding

....... Gk o8 (A JSA sy 26.

a5l (1
Gl (@
AV (7
ca (2

Mr. Adham Zewin - 0505084733




G12 General Physics — Chapter 01

AN Baa gl — gl T1-2024 - 2025

27. What happens when a negatively
charged rod is brought near a positively
charged electroscope?

A
B
C) The leaves remain stationary

) The leaves spread farther apart
)

The leaves fall closer together

)
D) The electroscope becomes neutral

Aail) il cudad G 7E) Ladie duaay 13 27,
CAa Al i ga (RS e (e il

sandl lpany e 31 5Y) 2ol (§
candl leany e G1sY) 2ol (@
A 3,5V Jhi (¢

Bl Jalaie el Uaiall sy (2

28. electrons get out into the hand instead
of down into the leaves by .......

A) conduction
B)

C) friction

D) grounding

induction

35 Ol o g ) i ) g ) 4528,
....... Gaob s @lusY Jal

Jaa 5l (§
Gall (@
A (7

ol (2
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29. The figure shows charging by .......

A) conduction
B)

C) friction

D) grounding

induction

....... Gk o8 (A JSA g 29,

Jem 51 (1
Gall (@
Ay (¢
ca (2

30. After separating Neutral spheres in touch, which of the following is correct?

1 2
Positive negative
A
4 50 4l
B Neutral negative
Jalaia Al
c negative Positive
4l 4 9
Neutral Neutral
D
Jalatia Jalatia

@A.«ag.‘,gw&\ comadlil) dag Saslaall cl SN Juad day
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31.

Which of the following is NOT true about charging by induction?

A | opposite in sign.

The result is that the objects involved end up with charges of equal magnitude but

BoLEY) 8 Aulatia oSV haiall 8 A sldie iy o550 40 gadiall aluaY) o) o Al

B | charged.

Charges are transferred directly from the inducing object to the objects being

Ao il alual) ) S8sall anal) (e B pilie cliadl) Jaiw

C | contact with the inducing object.

Charging by induction does not require the objects being charged to be in direct

il avall we il Jladl e 45 sl alual1 o585 of Gl 335k e o) allayy Y

D | charging by induction.

No charges are added to the objects from the inducing object during the process of

aally el dglee L8 Caniudll auall (e pluad) ) ciliad g Gl Y

Mr. Adham Zewin - 0505084733




G12 General

Physics — Chapter 01

T1-2024 - 2025

S Ban gl — gl )

32. What happens when you bring a
negatively charged rod close to the knob
of an electroscope shown in Figure

A) Electrons are attracted from the ground
to the leaves of the electroscope.

B) Electrons are repelled onto the leaves of
the electroscope.

C) Protons are repelled from the knob to
the leaves of the electroscope.

D) The electroscope becomes negatively
charged without any grounding

L) b Upedad 85 Ladie ang (s 1) L, 32

JLa B i gall gl Ual) (i (e
Gl G oY) e g 1Y) Cdas
ot eS) Gl
26l GLESH 315 ) g I dais (o
sl () A ol (e i gig ) Qs (7
Sl L)

LE‘ dez\j)ﬂ@u(ﬁ‘)@ﬁ\dwﬁ\@m(d

-
£

b

Mr. Adham Zewin - 0505084733



G12 General Physics — Chapter 01

AN Baa gl — gl T1-2024 - 2025

33. What is the role of grounding in the
process of charging an electroscope by
induction?

A) Grounding allows the transfer of protons
from the ground to the electroscope.

B) Grounding enables the flow of charge
from the rod directly to the electroscope.

C) Grounding removes or supplies electrons
to neutralize the leaves of the electroscope.

D) Grounding causes the electroscope to
lose its charge entirely, regardless of the
rod's charge.

oS el ek dgles A Ul 90 L33,
Sl

1 G 5 553 QS ) s
g;‘,)éﬁ\ alisl)

) B tlae ol (e AimBl) (3835 im0 iy (o
el sy

5 SV a5 5 sl g S (g U s (7

atiadl o 5eS) Calasl) O\;ﬁé@u@ﬂ\ iy (2
il Dad e Hhaill iy (JalSl

34. What is the Sl unit of electric charge?

A) Newton
B) Coulomb
C) Joule

D) Tesla

2 ) Aa il caa gl A gal) Ui 3aa 5 La 34,

s (|
pslsS (@

ds(z
s (2
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35. A charge Q is brought close to
uncharged metal Plate without touching,
after the switch is opened the charge Q is

removed. Which of the following is true?

Lsadia 5 Lisns dagdaa (50 Q Uil 555 35,
é\QM\d‘ﬁcM‘@ﬂMJ Lgaad ol (y90
?g,n\yagﬁii\g.a

metal
plate

T
T

<

Conductor J«= sa <lla

?c
s

a) The plate is negatively charged.
b) The plate is positively charged.
c) The plate is uncharged.

d) The plate charge cannot be
determined

ESENA | U B | (i
RSN RURENG O I\ (o
ol sl s (S Y (2

36. In the figure, a rod carrying a positive
charge is brought close to an uncharged
electroscope without touching it. When
the connection to the ground is removed,
which of the following is true?

O A ga dad Jaay il Q8 (JSd) 8 36,
A1) i Aaly O 099 Qe s uskalita g S
Sl pa (A e ) cpa il Juay)

condwcting ball

Elcctroscope
JRET P S

a) Aballand conductor are negatively
charged.

b) A ball and conductor are positively
charged

c) Aballis positively charged and
conductor is negatively charged.

d) Aballis positively charged and
conductor is uncharged.

il Al Jim sl 5,90 (1
A il a s Jla gall 53 S (u
M\Jh&dmﬂ\}@\h;yéﬂ\ (C

Osndie e dha gall 5 Aantl) Ao 5a 3 S (2
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37.

---------------------------------------------------------------

B Al Juaga Oa doage Aoy (eadia A 39S Jeage cu il A

| B Juasall JSAN b pdase s LaS Amials O 098 Ll gS Jokaa |
; B Jeasall o 0es A Adall) £ il gl U Al Jualia |

. ( A positively charged sphere A is brought close

the figure. Sphere B is connected with a grounded

i
without touching to a neutral sphere B as shown in i
wire. What is the type of charge on sphere B? E

Positive
A
A e
Neutral
B
Jaleia
negative
C
adla
b May be positive or negative
Al sl dun ga (S5 8

38. The charge of a single electron is
approximately:

A)1.602x107"°C
B)6.24x10'°C
C)1.602x10"°C
D)9.0x10°C

B)6.24x 10'°C
C)1.602x10"°C
D)9.0x10°C

A)1.602x107"°C
)

G (5 gladi aa gl) 9 S Aisdi 38,

39. The magnitude of the charge of a

a
b
c
d

surface charge
elementary charge
point charge
attractive charge

~—_— ~— ~— ~—

single electron or proton is called the ....

Al g Osign o) Gesl dad ke o 3l 39,

ST e
..” j S\ -, :.n (i
A Y Al (o
.~“1 .“ . :.S\ (G
el sl (o
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40. If an object has a negative charge of -

what s its net charge?

A)1x10°C
B)1><1OC
C)o

D)2 x10°C

1%10° C and a positive charge of 1x10° C,

~1%x10° C (g obudi Al L La anuad (S 13) 40,
A0S Afiad Lad ¢ 1%710° C (sgbud i ga ddadig

A)1x10°C
B)1><1OC
C)0

D)2x10°C

two charges is directly proportional to:

A
B

The distance between the charges

)
)

41. According to Coulomb’s law, the force between

The square of the distance between the charges
C) The product of the magnitudes of the two charges
D) The sum of the magnitudes of the two charges

O B8R i o 5158 ¢ A1 Wi g 41,
sza Lk Ll opfiind

i Gl d8lual) (i
e g e e (a
Calin Gl (5 )lN8a & gana (2

v v

41. If two charges qa and qg exert forces
on each other according to Coulomb’s
law, how do these forces compare?

A) The force on gais larger than the force
on Qs

B) The force on gg is larger than the force
on ga

C) The forces are equal in magnitude but
opposite in direction

D) The forces are equal in magnitude and
direction

s Laga I8 i gp 5 qa Cliinl) S 131 41,
el (g cigSh 518 ¢ g8 By 8 gy 5 AY)
S0 Al G Co

o e 5530 50 a5 g le 5 el 5,80 (1
G cste 53l 558 (e ST g (e 3 el 358 (o
b inSlate LegiSI ¢l i ol sbodia o581 (2

oLy
sl 5 laall 8 (i sbacia (g8 (3
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What happens to the force between two
charges if the distance between them is
doubled?

A) The force doubles
B)

C) The force is quartered
D)

The force is halved

The force Quadruples

ddlcal) cadie it 1) cptind ¢y 5 98U dhasy 13La
Slagiu

3 5ill Cae Lz ({

caaill ) zjﬂ\uaés.ﬁ(g_’
e ) B sl s
Q\f@)iwwsjﬂ\ (J

Which of the following best describes the
electrostatic force?

A) Itis a scalar quantity with magnitude
only.

B) Itis a vector quantity with both
maghnitude and direction.

C) It only depends on the magnitude of the
charges.

D) Itis always repulsive between charges.

Al g <)) 8 68N Chia g L] g AV e G

il <l il S L) (I
ol s lae il Agaia LS (0
lindl e e i it (7

LBl o Rl L L) (o

What is the correct unit for Coulomb's
constant (k) in the equation of Coulomb's
law?

O Udlaa A (k) a sl S Culll daaual) 3aa gl) La
faslss

A)N-m/C
B) N-m*/C?
C)N/C

D) N-m?/s®
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What does the Coulomb’s law equation provide? TaslsS oild Aldlaa Agle ali s L
Osind G 3 58l ol (I
A) The direction of the force between two charges Oind o 3l Hlaie (@)
B) The magnitude of the force between two charges 4 sl Cilagnll de i (7
C) The velocity of charged particles i satiall Claweal) dlae (3
D) The acceleration of charged particles

Which commercial application utilizes
electrostatic forces to spread paint
uniformly?

A) Photocopy machines

B) Laser printers

C) Spray painting in automobiles

D) Static electricity generators

Al g gsll (5 98l addiicy o3 (5 Ll Gaadail) Le
Saliiia JSy oMhal) il

el YT (

2o clelda (<

Sl G il e (z

AL ol 5SSl o (3

Which of the following best describes the role S8l ol Chag Sl L Laa sl
of electrostatic forces in reducing emissions

from smokestacks?

A) They are used to cool emissions before they

are released into the air.

B) They attract charged emissions to oppositely Gl A LeBoUa) aiay Las ¢led Ao 4 gaiia
charged collectors, preventing their release into ) RN

the atmosphere.

C) They neutralize the emissions, making them

safe to release directly into the air.

D) They ignite emissions, converting them into

harmless gases before release.

TOAIA Cpa calilagdy) Julis & 4Silin g gl

o) sl A L8l J8 i) g 5l aadind (|
Glaanae ) 45 saiall il dad (o

Al Lebans Len cctililast¥) Alalas e Jand (2
el 8 5 pile LadY

e ) el sat s cililany) Jladily o 585 (3
L) Jds i e
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Two charged spheres are held a distance 50 cm apart, as shown

A B
+3 pC +9 uC
< "
B r I

a- Draw an arrow to indicate the direction of the force of sphere A on sphere B

b- Find the force of sphere B on sphere A

Two charged spheres are held a distance r apart, as shown. If the force between them
is56 N

A B
+3 uC +9 uC
</ R
= r I

Find the distance between them
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A negative charge of -6 x 10°° C exerts an attractive force of 65 N on a second charge
0.50 m away. What is the magnitude of the second charge?

JMiale 20,50 i Ao Al Liad o 65 N W ldha Gila 558 -6 X 10 C W hike Al Lins Jfiss
ALY ddaid)

A B

Sphere A is located at the origin and has a charge of +2.0x 10° C. Sphere B is located at
+0.60 m on the x-axis and has a charge of -3.6x 10°° C. Sphere C is located at +0.80 m on
the x-axis and has a charge of +4.0x 10 C. Determine the net force on sphere A.

B o
9 ® 9
x=0 0.6 0.8

Wiiad g x Jsaall e +0.60 m s (B) 38N a8 +2,0x 10 C Wiiad g Jua¥) dhadi dic (A) 381 ad
5 iigal) Alasal) 548 3391 +4.0% 10 Lgindig x sgaall o +0.80 m e (C) 381 &5 -3.6% 10 C
(A) 55
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Three charged spheres are at the positions shown in Figure.

Find the net force on sphere B.

+y 1

B5_S) Ao 3 igall dasall 3 58 29

3.0cm

J‘ ‘-P +6.0 uC
Cc

F=F,

A

_ Kq,q,  (9.0x10°Nem?/C?)(4.5x10~° C)(—8.2x10~° C)

r2 (0.040 m)?

=—208 N= 208 N, Ludi g3

1/(0.040m)? + (0.030 m)* = 0.050 m

— tan-1(0:030 My _ 5.
0, =tan (0‘040111)_3?

£ (3 N (liomdid | (it A8 el

2 37° Lo ld! X jemma Jawl 1 Jual 9i 217" com gl X jgme e F 5530 Jal (51

F,=F

2 B C

_ i 9c%s_ (9:0x10° Nem? C)(-8.2x 10 C) (6.0x10 C)
=K-5

(0.050 m)?

=—177N=177N.217°

B cC

(37" + 1807) gglus comgall X y3ome ms Aagl i Jual 5

F, =F,c080= (177 N)(c0s 217°) = —142 N = 142 N . jLucdt g3 diisg

F,,=F,sin 8= (177 N)(sin 217°) = —106 N = 106 N . Jau¥ s> dxing

F._..=—208N—142N=—350 N =350 N. ;lucstt yoxi

1 X

FM = 106, a1 gomd daniliy

F.__.=\(350N)"+ (106 N)’ = 366 N = 3.7x10°N

92= tan-‘(ms N) =ilig=

350N

Fm'= 3.7x10*°N i I X jama ae 197° gl 50 e (51

’&?‘an Sﬂlt:lL.tS).ﬂ

1B Aliasm ol 593N OLEK 4o

ALt X jgome bawl 17° Aag) o el (S
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The two pith balls in Figure each have a mass of 1.0 g and an equal charge. One pith
ball is suspended by an insulating thread. The other is brought to 3.0 cm from the
suspended ball. The suspended ball is now hanging, with the thread forming an angle
of 30.0° with the vertical. The ball is in equilibrium with Fe , Fg, and Fr. Calculate each
of the following:

a. Fg on the suspended ball

b. Fe

c. the charge on the balls

St Jak Al gy Alllna (5 1) (g3 Aygluaia Linlig 1.0 g 5 sbost Lagha JS ALS Jal) b Gl 1
MJ\JM\chUYﬁmmtaﬂﬁ w\aﬂ\w30cmw&saﬁ\lﬁaﬂﬁm\g
:gigl-ulsem‘ Fr 9 Fg 9 Fega OV Alla 35,80 | uil Y 20 30.0°

Al 58N o Fy (I

FE(‘T‘

GOSN o sl 7

alasdl 5/5.” ‘_“;. 3):;».” Fg a
oo = -3 2y — -3
F,=mg= (1.0x10kg)(9.80 m/s?) =9.8x10*N

‘u.b.\u'l Sﬂhfao.. ilFE .b
o__ E
tan 30.0 =F

F, = mgtan 30.0°

= (1.0x10* kg) (9.80 m/s*)(tan 30.0°)

=5.7x10*N

;,.;JSM o _JLS = Lol .C

F KquB K‘F

E  [(5.7x10%N)(3.0x 102 m?) :
=2.4x108C
7=Vk \/ (9.0x10° Nem?/C?) X
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